AL
A= 2

=

I—o]—







3.

(1]

H7]

2:3=(2x3): (3x3)=6:9= ¢ =~
6 3

3:7=(3x2):(7Tx2)=6:] |=> ==
[] 7

5 J=x
-
YR

ct




T 48 Aelh2 HEOA L,

T

oM

16 :[_|

x[): x[)

4:7




1.28:0.21 = (1.28 x[_]): (0.21 x[ )
=[1:[]

B =

B =



6. o Ao o] wa el 5 ARt E 42 FohA 2.

1:4=4:16




TEE 6 : 49 HZ Yol 7hxg 1
I 7FAA = =2 F5HA] L.






9.

AT 0] B T L.

36:27=(36+9): (27+@)=4:0

D 10

@ 11 ® 12 @ 27

® 81







11.

20 : 249} B]9] gho] ZL U] BE Zo} 7|55 K BAL,

A 6:5 © 10:12
© 5:6 ® 24:28
a=




12, Thgol A 518 3 u]o] gro] 2& uli= ol

® 5:16

@ 10:16

@ 10:8
B3 8:5



15

® 15 B 45 @ 50 B 65

@D 5



o

35 &
1.5 Al




25m? : 2.5a




O | <

a0




o|J

JIE2AQ,

0.3:

@ 4-:30 B 2:15

-3

® 3 B 4

@D 5



— <t




19.



— N

@ 02:07=2:7



® 25

@ 2

[arR ey

@ 0.5

@ 0.25



22, WA [ |i12=24:36 14 [ |2 Felis Aoz oo

ol AAY7F?

@® (12x21)x 36

@ (12x24)+36

@ (24x36) + 12

® (36x12)x 24

® (24 +36) +12

A

Mo



o ) EFAY 3Tke
°

Y
SHA]

kg



24.

oo AL 3} 1

oA &

E=85:39 HZ

BI57} ke gEo] 15000 YloletH, o e &

AL,

Yt
=%



cm



26.

%) =3} 2o ol 5 : 3gueh =9 Wol7t 2hashel, we
Holt ¥ haglx] otur] 91 ule AL b F ol AU

®5:3=[ ]:2 @3:2=5:[] O®[]:2=5:3
@ 5: |=2:3 ®5:3=2:] |



o] 327} Qlguich. stk 72
2ped4-0] 12 Lheh A 2.



28.

£ 180712 @t 5A0] thre] ] Fol 2070 o ol 743
FUth 97 540] 4 T 50 1S FpA 2R Ao v
b A2,

Yt
=%



29.

o
ot

[> ne

5]

& hAag 297 PepAE amo
2 A7) Sl Qo] ¥ 7 =

CE 4



Al

)

dol=1.6m o BAFE 7R AL Q1AL 9= 3.4m o FAE 7R 1L
AFUT Aldole] dAre] doleof 9o HAre] dolo] v & 7HF
e Ajdse] 2 LERRA S

V]
m



31. AP @ @2 "ol vlE 7 PRt Ahdof vl 2 YERfAl 2.




JE2AQ,



33.

FAH S-S e

qh=0] 2A7} 550g A
AlQ.

Yk
=

o WS B8 479 MR 4
o, 5ol o] Gt WATE 2 5



34. Aok 2= Feolst

Folst 5] W7} - .

T2

>R
=%

12007} A5y Aok 2

Zolehel enl7t 3e Folshe o o}

ate]

7}
2]

A
A=

_4



<l

@ ¥-5500 €, 54-2500

<l

@ ¥-6000 ¥, 54-2000

2]

@ F-4800 ¥, 5/3-3200

=

® 9-5000 ¥, 548-3000

%

A_3500

=
le)

%’

® 3-4500



